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IF the aritBenetic averige of data given below he
165 rupees, fiewd the sissing term
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Find the ranpe of the following distriburion of

fanibies according to #s size (No. of children). =
. S;uof{ulu:h' 1 Na_of farsilees .:
o e — — e
0 I ; g
] 12 =
2 1% =X
3 b2 &
4 4 3
5 & =

Fisdnif(n+1)=12(n- 1P,
If P2 = 720 and *C, = 120 find r.
If PJA] = 0.5 ans P [AUB] = 06 Find P [B]

if A s B are munually exclasive.
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(M) PIA nBY=~PLA]-P(B)
(i PIAY < FIA] -
Write a short note of seatistical gquality conarol.
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{Loag Apswer Ty Questiont)
Note t Aremnpt ary fwo quetioen frosn this Section.

Find the sumbsr of persutateons of the kesien of
the word ‘ENGLISH'. How many of twse begin
with E and end with |
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. A bushand and wife appear in & mferview ff IR0

2. Calculats the medan and mode from the following
3 vacancies in the same post. The probability of the
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3. Find standasd Sovistom (5. D) add coefficiont of 5‘. g 6. The peobability that a person can hit » targel is 3 FE
variasion (C. V) from the folbowing data : g &) | .
: | - ' g 8 the probability that ancther person can hit the same
Age growups (years) No. of wirkers = = .
[ __is-—io | _—IO urgdui Bl e first pevson ¢an fire § shots m the
¥ " tiwe. The secomd person fues 10 shots, They fire
»- 0 | 13 together, What {8 the probabality that e sevomd porsoa
04> ! 4« shoots dee sanget 7
45--30 I 10 7. A drilling machine bores holds wilk & mean dinmecter
' 5035 3 0.523 cm and a standard devistion of 00032 cm
- ’ Calculste the 2-sigma and 3-sigma upper md lower
4 fa) There sre ¥ men sad ¢ ladies o dime at a round ! et for { samee of 4
1 L&
able. In how many ways can they sest them. conrol tem e §
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) data
04 P.T.0 D44

http://csymuonline.com http://csymuonline.com

wod duruonulsa;dny



wodaurjuonwulsa;dny

http://csjmuonline.com

- s BCA-3060N)

q’- W-“ﬁ““ﬁﬁﬂw
" of kead fin T dor Ut bodde o Laaley

s 159 196 ¥ uw m

h ]

P M i e
I 3 b M WM oM™
144 133 177 173 w2
e M o 2 me ms
() Obiain & frequeecy ditribution  using  he

foflowing claes werval . [00-1350, §3%0-200,
D002, Fi0- 500, 500350

Vit Ahal perentige o f Sk apennds hess D
0 2150 per month aml wha percestage of
Nonatets ks srends racwe haa € 200 per manth ?

o

By wamg avupmyg method | xate mode from the
Stlow g dota

s o S
'
17
T
»
n
3

—

lll&lttl!
¢

BCA-3950%) 2900

http://ecsjmuonline.com

wod surjuonwlsa;dny



